11-3 Areas of Circles and Sectors

APPLY MATH Find the area of each circle.

Round to the nearest tenth.
8. Refer to the figure on page 801.

=%

SOLUTION:

A =m‘2
—7(5.5)°
=950 ft?

ANSWER:
95.0 ft°

9. Refer to the figure on page 801.
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SOLUTION:
A= m‘z

—7(5)
~TRS

ANSWER:
78.5 yd*
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10. Refer to the figure on page 801.

ANSWER:
503 ft°

11. Refer to the figure on page 801.

A

| /i425|n
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SOLUTION:
A=xr

=142

ANSWER:
14.2 in*
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12. Refer to the figure on page 801. Find the area of each shaded sector. Round to

the nearest tenth, if necessary.
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SOLUTION: A= 3er W
szl _

A—?ﬁ . — 3|5|:|E(5
=(9) = 28n(25)
= 354.5

= 10.0

ANSWER: ANSWER:

254.5in’ 10 in®

13. Refer to the flgure on page 801.
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— _ 2
P e 3@ - TP
SOLUTION
area = 77> - 3"5':'E(H)
= (5’ = 37(64)
= 25 = 402
R 785 ANSWER:
ANSWER: 402 em’
78.5 ft°
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11-3 Areas of Circles and Sectors

12
G

SOLUTION:

A= Z2-ar

i

e
)
=1
i

ANSWER:
167.1 ft°

Keose
15m/

5

SOLUTION'
4

P N 3@ =77

_ 164
= 36Dm{15)

__ 164
= Tin(225)

322.0

ANSWER:
322 m’

i
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=219 . 1.116.64

11.2 mm
55" sy
X
22.
SOLUTION:
Y
P N 360 7
= 36055 7(11.2)*
__ 305
= 36D3T(125 445
m 3339
ANSWER:
3339 mm”
103
/@1\\\ In.
3. M Q
SOLUTION:
gy B
sector area = 360 yiXj
_ 360-81 _
360
— 360
= 284.0
ANSWER:
284 in”



11-3 Areas of Circles and Sectors

41.

Find the area of each shaded region.

o f-te—Lre—|

| 12 in. *
SOLUTION:

The larger circle has a radius of 6 in.

The three smaller circles are congruent and the sum
of their diameters is 12 in. So, each has a radius of 2
in.

The area of the shaded region is half of the large
circle minus half of one of the small circles. Note
that the shaded half circle offsets one of the
unshaded half circles.

A(shaded) = %A{lg.circle} —%A(sm.circle)

=1rn®? -1x2?

= 18m —2r
= 503

ANSWER:

i03in°
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